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= respondent passed on the letter; spouse/partner is
available now and can proceed, respondent passed on the

letter; spouse/partner is not available now, respondent

agreed to pass on the letter; spouse/partner is not there

1 respondent passed on the letter; spouse/partner is
available now and can proceed

2 respondent passed on the letter; spouse/partner is
not available now

3 respondent agreed to pass on the letter;
spouse/partner is not there

4 respondent agreed to pass on the letter;
spouse/partner is there but not available

5 respondent did not agree to pass on the letter
6 in partner sample-no eligible partner

7 in partner sample-eligible partner but not asked to
recruit due to computer error
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